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Seven students viz. E, F, G, H, I, J and K are having different number of
chocolates with them, but not necessarily in the same order. E has less
number of chocolates than K but more number of chocolates than G. J has
more number of chocolates than F. Not more than two persons has less
number of chocolate than E. F has less number of chocolates than K but
more than E.H has more number of chocolates than J. I doesn’t have more
number of chocolates than G. The person with the second least number of
chocolates has 18 chocolates whereas the person with the second highest
number of chocolates has 26 chocolates. Neither H nor K has 26

chocolates.
A1 B 34Tl E F, G R H,1,) 3R K& 910 F9-39T HEAT A didhdc &, ofhed ST oIl
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5. Who among the following person has the third highest number of
chocolates?

farfaf@a & @ frw safda & g R ga@ I3+ aidae g7
A.l

B.I

C_F H>]1]>K>F>E>G>1
D.K l
E.None of these

26
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6. How many possible chocolates does H has? 0 15 *_,
H & g fradl wsnfaa afede 82

A.26

B.32 H>)J>K>F>E>G>1I

C.18 l l
D.12

E.None of these 26 18
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7. Who among the following person has second highest chocolates than

G?
frfaf@a # & 5 =afed & o9 G & qEll a9 91 AFac &2
A.F
B.E
C.K

D_J H>]1>K>F>E>G>1

E.None of these l l

26 18
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8. How many persons have less humber of chocolates than J?

fhdar <gfFdar & I J § FH dldoc 87

A-One H>]>K>F>E>0G2>1
B.Four l l
C.Five

D.Three

E.None of these
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In a certain code language, B 1-30
'‘people visit many auditorium' is written as’ bh oa pu ki’, .

‘'many places like visit' is written as ‘pu mh jk oa’,
'‘people like discover places' is written as 'bh jk eg mh’
‘auditorium visit discover things' is written as 'ki oa eg qw

What is the code for word 'discover' in this language®?
1) Mh 2) eg 3)gw 4) either mh or eg 5) oa

which of the following word is coded as 'ki' in the given coding language?
1) Many 2) visit 3) auditorium 4) people 5) things

What is the code for the word 'visit' in the given language?
1) Mh 2) oa 3) jk 4) either 'mh' or 'jk’ 5) bh
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In a certain code language,

'‘people visit many auditorium' is written as’ bh oa pu ki’,
‘'many places like visit' is written as ‘pu mh jk oa’,

'‘people like discover places' is written as 'bh jk eg mh’
‘auditorium visit discover things' is written as 'ki oa eg qw

What will the code for 'discover grievance' in the given coding language?
1) eg qw 2) jk mh 3) ki pb 4) bh oa 5) pb eg

which of the following word is coded as 'bh' in the given coding
language”?
1) People 2) many 3) things 4) places 5) visit
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If it’s possible to make a meaningful word from 1st, 4th, 5thand 8thletters of the
word DOMINANT, then which will be the third letter of the word from the left
side? Mark ‘X’ if no such word can be formed, “Y’ if more than 1 such word can

be formed.

af& DOMINANT ereg & 9gal, 919, 9red 3R 316 ari ¥ Wrdw g qaren_
THT g, dY 915 T T 2Asg T G &R i AT g9N? I QAT S s Tl
mmﬁm%a’r'xﬂ%ﬁrﬁ,aﬁ1@Tmﬂ#am{aﬂm%eﬁw'
fafEaa #

DT 2)N 3)X 4D 5)Y
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A

o, F, T, TH, U, o, 7, 3R, T, AR S A3 & 10
ﬁ%lawnﬁmmﬁwﬁ%l:ﬂ%aﬁmﬂ
fraear1 g M AT Hraears gl daa &
YA el A &) Fole § 31U Fele T 3R Fele dY| Fele
Trle A FIRaR A AR 2 F Fc v Rle U H
NF IR AT 1 FT IR dT 3 F Fele A & S Al
3T AT 2 FT Fele B, AT 1 F FolT B & SF FW
¢ 3R AT 3 & wole B & S A, 98 3= g3t
ATSre & T AT 81 T8T, AT Folc PR T 7T &
for afe v safFa wele v wgar ¢ Ay quu safFa o
FACUA@AT AR A TFH & Fele TR A W@ ol FF
U YT TEAT aTelt AT F Fle T A AT, e
Q398 AfSTer qU g1 N IR R A AT F fi=war
AT &1 ), QF S FUTIEAT &1 S 31 N 3TAT-37e19T
AT 9T 3TSAT-37TIT ThR & Fele A §1 S Tad I
AT W@ 1 RF [ H P A &1 M, L F 3eR-99
AL NIRRF AR ERATITI P QFAT
Y v AT W Igar &, Afera S A a1gh| R F1
del, S & dd & S i g1 M, gradt AfSrer 9T T8l
WEATRIT K. FAA@ATE

There are 10 persons namely J, K, L, M, N, P, Q, R,‘,'
and T. They stay in a five floored building. The bottom
floor is numbered 1 and the top floor is numbered 5.
Each floor of the building has two flats namely flat A
and flat B. Flat A is to the west of flat B. Flat A of floor 2
IS immediately above the flat A of floor 1 and
iImmediately below the flat A of floor 3 and flat B of floor
2 is immediately above the flat B of floor 1 and
immediately below the flat B of floor 3, it is similar for all
the other floors. Here, the same flat type means if one
person stays in flat A then the other person also stays
in flat A if they are staying in the same flat type.Q stays
in flat A of an odd numbered floor, but not the topmost
floor. There are two floors between the floor of N and R.
J stays just above Q. S and N are in different flat types
on different floors. S stays on the topmost floor. There
IS no one to the east of R. M is to the north-east of L. N
and R stay in the same flat type. P stays on one of the
floors below Q, but not immediately below. R’s floor is
just below the floor of S. M does not stay on the fifth
floor. T stays below K
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There are 10 persons namely J, K, L, M, N, P, Q, N'
and T. They stay in a five floored building. The bottom
floor is numbered 1 and the top floor is numbered 5.
Each floor of the building has two flats namely flat A
and flat B. Flat A is to the west of flat B. Flat A of floor 2
IS immediately above the flat A of floor 1 and
Immediately below the flat A of floor 3 and flat B of floor
2 is immediately above the flat B of floor 1 and
immediately below the flat B of floor 3, it is similar for all
the other floors. Here, the same flat type means if one
person stays in flat A then the other person also stays
in flat A if they are staying in the same flat type.Q stays
in flat A of an odd numbered floor, but not the topmost
floor. There are two floors between the floor of N and R.
J stays just above Q. S and N are in different flat types
on different floors. S stays on the topmost floor. There
IS no one to the east of R. M is to the north-east of L. N
and R stay in the same flat type. P stays on one of the
floors below Q, but not immediately below. R’s floor is
just below the floor of S. M does not stay on the fifth
floor. T stays below K
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Who is staying to the west of M?
1S 2L 3)J 4)0Q 5R

How many floors are there between T and K?
1) One 2) Two 3) Three 4) They are on the same
floor 5) Zero

Who stays second above L on the same type
of flat as that of L?
1)R2)K3)S4)P5)J
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Who stays immediately below K?
1)S 2)M 3)R 4)T 5P

Which pair of persons stays on the fourth floor?
1)SandK 2)Qand M 3)RandL
4)Jand R 5)Pand N
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1) Only Il'is True

2) Neither | nor Il is true
3) Both | and Il are True
4) Either I or Il is True
5) Only l'is True

Statements: C>W; G<N:W=T: NST

Conclusions: .C>G . W2N

Statements: A<BZ2C.D>E>A:C=F>G

Conclusions: . D2C 11.B > G

Statement: A>B=C,D<M,MsC

Conclusion:1.B>M II.D <A
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L)y IS e Statements: Y=0sGsK=U>L>P;Y=A2R
2) Neither | nor Il Is true
SISO [EE ] 2 Ve Conclusionsl. U>R  II.LR=U

4) Either 1 or Il is True
5) Only l'is True

Statements: L>B<J=Q; T=0<L;P=Q

Conclusions: . T<L .P2J
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mmw%lﬁé&mlmﬁ%&mﬁmﬂw
gafeT ge 3tk e &1 ged ST 9g g 3
FY ITETM-3re19T ToT qHE FIA 8 oI o e, e,
T¥e, HTAT, &0, A1-U, 31X Ner| oS orer e &
3UHT G T T8 | Fae T SAFaA F 9B A
A §, o ofren Tr wwg ¥ F Y e Trowg @ 3R
SRR IS BAFATEI BINEF Nagiucy, FF
Hhe T9T YHE ¢ | HTT T THE e dlel sqfFd &
9T U UG ¢ i1 E & 81 3T ¢| F AGTIEEF oTo! o
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There are seven persons in a company nam!',
B, C, D, E, Fand G. They have different designa-
tions starting from clerk, PO, assistant manager,
manager, deputy general manager, general man-
ager, and managing director. Starting from the
managing director being the highest post and the
clerk being the lowest post. They all like different
colours namely red, blue, white, black, green, or-
ange, and yellow.The one who likes red has the
highest post. Only three persons have posts
lower than that of B, who likes blue. F likes
yellow and has a post higher than that of B.
There are two posts between B and E, who likes
white colour. The one who likes black colour has
a post which is just higher than that of E. F is not
the general manager. A likes green colour and is
senior to G, who is assistant man-ager and likes
orange colour. C does not have the highest post.
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There are seven persons in a company nam!',
B, C, D, E, Fand G. They have different designa-
tions starting from clerk, PO, assistant manager,
manager, deputy general manager, general man-
ager, and managing director. Starting from the
managing director being the highest post and the
clerk being the lowest post. They all like different
colours namely red, blue, white, black, green, or-
ange, and yellow.The one who likes red has the
highest post. Only three persons have posts
lower than that of B, who likes blue. F likes
yellow and has a post higher than that of B.
There are two posts between B and E, who likes
white colour. The one who likes black colour has
a post which is just higher than that of E. F is not
the general manager. A likes green colour and is
senior to G, who is assistant man-ager and likes
orange colour. C does not have the highest post.
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Designation

Who likes black colour?
DE 2)A 3)F 4)Theonewhois the PO
5) The one who is the manager

Managing Director

Green

General Manager

Deputy general manager

LS lI\Who has the designation of deputy

general manager?

1)C 2)B 3)D 4)A 5)F
Black

Manager

Assistant Manager

How many persons have posts lower than A?
1) Six 2) Four 3) Three 4) Two 5) Five

White

Clerk
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Designation

Colours

Managing Director

General Manager

Green

Deputy general manager

Yellow

Manager

Assistant Manager

Orange

Black

Clerk

White

K 2022 / /EE8at 11:30 AM/“

How many persons are there who have their posts
In between D and the one who likes orange col-
our?

1) One
5) Two

2) Three 3) Four 4) None

Which of the following pair of name —designation —colour
IS correct?

1) D —General Manager —Yellow

2) B —Assistant Manager —Blue

3) E —PO -White

4) A —General manager —Green

5) G —manager —orange
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How many pairs of letters are there in the word “SECURITY” each of which
has as many letters be-tween them in the word (in the forward and backward
direction) as they have between them in the English alphabetical order?

g “SECURITY” #H eI & W fhdal I9d 8, e @ 9q% & €I 3 &
R &, Braer 399 T 3N aotATer & wa & (3 iy A A e #) §2
1) One 2) Two 3) Three 4) None 5) More than Three
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If 2 1s added to each even digit and 1 is subtracted from each odd digit in the
number 321754, then which number/numbers are repeated more than once?

IR WEAT 321754 A YAF UH 3F & 2 ST 1T § 3 IAF AYH 3F @
1 e arar ¥, at #l @ geavaEanst # e @ 3 91 QAT Sar 37

1)Only4  2)Both 4and 6 3)4,6,8 4)Only6 5) None


http://www.mahendras.org/

=09, CLERK 2022 / /mmat11:30 AM,/ @

Y%, N, O, P, Q,aﬁTRama;a‘f'aﬁ?r%la‘mﬂ
wqﬁ?r#%%lwmwma%maﬁtwm
7@ TRor Y 3 &1 A 12 & e safFa 137
& IR v cafFd &1 @ 3o R A § A g@yH
waﬁmﬁmaﬁrm%mﬁ:mmmﬁm
fremait 3 & Y af var 1 @ 3O A AR E A @I A
wa@wﬁen#%aﬁtmﬁﬁalma%m
mmﬁmmaﬁrmmm
ﬁm#m%lmé?mw#%—aﬁﬁmw
mﬁena%mﬁ%mﬁwﬁwﬂ'&—qﬁﬂmmw
Rradia fyamait & 21 ) e v sifRw e wder ]
IfAH I B8R W &S AfFT & T W T TITH W &S
IfFd F AT FfH T BRRAS S & faadia 2
N T 7@ 3] e & ¥ TR g e W AS safFa 1

G AT F I T N QF T aFaIsTi ey
F AT dord, ﬁj#ﬁﬁ?—rﬁanﬁmm%l
K, 910 B @ DY T a dor ¥ Q IfF T F AeT A
ﬁa%ljmmaﬁ‘rﬂra&ma@r%l R, N & fAse g1 K
IRLFIoaTaFadss ﬁtaﬁwé‘rﬁmﬁ
I 37" &1 Q & fAdead =T &1 7@ faudia
AT oskNFrTAE T A R A T3 o sk N
FdTFaaTHAFT &

There are nine persons namely, J, K, L, M, N, O, P, Q"
They all are sitting in a row. Some are facing north and some
are facing south. The person facing in the same direction
means that if one person faces in the north direction then the
other also faces north direction. If persons are facing opposite
directions then if one is facing north then the other faces in
the south direction and vice-versa. The number of persons
facing south is more than the number of persons facing
north.The one who is sitting in the middle of the row faces in
the north direction. The persons sitting on the extreme ends
are facing in opposite directions. J sits on one of the extreme
ends. The person sitting second to the right of the one who is
on the extreme left end is facing opposite to the one who is
sitting on the extreme left end. N faces in the north direction.
The person sitting on the ex-treme right end faces south. Two
persons are sitting between N and Q. P is sitting immediately
to the right of J, and faces in the opposite direction to that of
J. K is sitting third from the left end. Q is sitting in the middle
of the row. J does not face the south. Ris near to N. Three
persons are sitting between K and L, and both are facing in
the same direction. Immediate neighbours of Q are facing in
the opposite direction. O and N is facing in the same direction
and there is only one person be-tween O and N
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There are nine persons namely, J, K, L, M, N, O, P, Q"
They all are sitting in a row. Some are facing north and some
are facing south. The person facing in the same direction
means that if one person faces in the north direction then the
other also faces north direction. If persons are facing opposite
directions then if one is facing north then the other faces in
the south direction and vice-versa. The number of persons
facing south is more than the number of persons facing
north.The one who is sitting in the middle of the row faces in
the north direction. The persons sitting on the extreme ends
are facing in opposite directions. J sits on one of the extreme
ends. The person sitting second to the right of the one who is
on the extreme left end is facing opposite to the one who is
sitting on the extreme left end. N faces in the north direction.
The person sitting on the ex-treme right end faces south. Two
persons are sitting between N and Q. P is sitting immediately
to the right of J, and faces in the opposite direction to that of
J. K is sitting third from the left end. Q is sitting in the middle
of the row. J does not face the south. Ris near to N. Three
persons are sitting between K and L, and both are facing in
the same direction. Immediate neighbours of Q are facing in
the opposite direction. O and N is facing in the same direction
and there is only one person be-tween O and N
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Who is sitting third to the left of K?
)N 2)J 3)Q 40O 5L

How many persons are not facing north?
1) Four 2) Five 3) Two 4) Three
5) Six

Who is sitting third from the right end?
DK 2)M 3)L 40 5Q
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How many persons are sitting to the left of L?

1) Four 2) SIX 3)Two 4) Three
5) Seven

Which of the following pairs of ‘Name —Face direction’
IS correct?

1) L —North 2) M =South 3) K —North
4) N =South 5) J -South
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Wefe are seven persons in a family namely, D, G, J, K, N, M, and P. N is the mother of J. D"
son-in-law of N. G is the son of D. K is the only aunt of G. D does not have any brother-in-law. N
and M are a married couple. D has only one brother.

s gRar & ¥9 «afda €, 39’9 b, G, J, K, N, M, 3T P.N, ) Y AT &1 D, N FT gHIE &1 G, D. KHT
qa%e?sam’l?hm%l D& HIE FeI-34-a1 A& Tl N33R moF fRarfed gorer &1 D &1 Faa
T+

How is P related to G?
1) Aunt 2) Uncle 3) Father 4) Mother 5) Grandfather

How many female members are there in the family?
1) Two 2) One 3) Four 4) Three 5) Five

How is M related to D?
1) Father 2) Mother 3) Sister 4) Son-in-law
5) Father-in-law
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Ten Boxes A,B,C,D, E, F, G, H, IandJarep
one above the other in any particular order. Box
number 1 is at the top and Box number 10 is at the
bottom. There are three boxes between Box A and
Box B. Box | is placed on an even numbered
position. Box J is immediately above F and
Immedi-ately below C. Box G is placed between the
Box D and Box H. There are three boxes between
Box D and Box I. Box B is neither at the top nor at
the bottom. Box F is at ninth position. Box G is
Immedi-ately above Box H.

SH dIFd A, B, C, D, E, F, G, H, 131X ) FN QAT FA At
& I TH (@ AT G| T ¥ 1 FeU IR g AR I
STeY 10 Had A1 8| 91FF A 3R dTFF B & il AT aidFqw
& 19 | T TH TH TE&IT arelt Feufa & w@r rar g Bsear
), FEF AF I IR cF s AA T Bear 6, FBsar-p 3R
fEsar-H & fiw @1 8| Bsar-D & g i Bsa §1 31 Bear
. Bear B T AT IR B 3 A & A Bsar Fald Ty I
f2eaT G, f2edaT H & S IR T
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Which box is placed at the top? -

1)A 2)C 3)D 4)I 5) B

Which of the following box is placed at the position
number 37?
DA 2)G 3)D 41 5) B

Which of the following box is placed immediately
below I?
DDA 2)G 3)D 41 5) C

Four among the five are alike in certain way. Find the
one that does not belong to that group.
)G 2B 3)C 4)J 5 F

What is the Box number of Box H?
1) 6 2) 2 3)4 4) 5 5)3
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Certain numbers of persons are sitting in aro

are facing in the north direction. M sits third to the
left of N. Five people sit between M and K. S sits
second to the right of K. O sits fifth to the right of
R who Is an immediate neighbor of M. L sits
second to the left of O. K sits third from one of the
extreme ends. O is not an immediate neighbor of
N. Number of people sit between R and L is same
as the number of people sits to the right of O

ffRea wear A safad va gfda A 3¢ it FTAE 3w
feam Y 31 M, N F T F AW T Wt M IR
KF ST ara AT S 81 S, K F ar | AR T W AT 8
0, R % g ¥ UTd TATH W ST 8, ST M &1 fdhedd
TSI 1 L, O & 1 W qEY TUTT W 3T ¢ K fFedt v
A SR T N TAF W31 81 0, N F1 Ahedd T2
Al g, RIRLF AT IS AR AT 3a- & & _ar o
R IS A Hraeard
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How many people are sitting in the given row?
1)18 2)15 3)17 4)19 5)13

If Q sits between R and N then what is the position

of S with respect to Q?

1) Fifth to the right 2) Fifth to the left 3) Sixth to
the right

4) Sixth to the left 5) Seventh to the righ

The number of people sits to the left of S is same
as the number of people sits to the right of
?

DN 2)L 3)O 4R 5)None of these

How many people sit between O and K?
1) Two 2) Seven 3) Nine 4)Eleven 5) Thirteen
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